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Please read each of the following instructions carefully before attempting questions.
IR ¢ ¥ gd FafaRad e & uan aayrigds ug |
1. There are EIGHT questions printed in both. English and Hindi.
S 316 U9 © Sl Sl SR gl a A BU E |
2. Candidate has to attempt FIVE questions in all either in English or Hindi.
IrficaRr &1 o ufg usl & SR et aT R AT |

3. Question No. 1 is compulsory. Out of remaining seven questions, FOUR are to be

attempted.
Ty ST 1 AR § | A0 A Ut H Y IR Uil & SR <o |

4.  All questions carry equal marks. The number of marks carried by a question/ part are
indicated against it.
Tt Ut & T S § | TS Uy / W & I sl 9% 9 feu MU |

5. Write answers in legible handwriting. lllustrate your answers with suitable sketches
and diagrams, wherever considered necessary.
qured ferarge # IR fafau | Sgt i sraxasds THe S, 98! 3+ IR &l Iugad QT
3R 3@l & 1Y WY BT |

6. Each part of the question must be answered in sequence and in the same

continuation.
U8 & T BT IR I 561 H &1 &1 =g |

/. Attempts of the questions shall be counted in sequential order. Unless struck off,
attempt of a question shall be counted even if attempted partly. Any page or portion

of the page left blank in answer book must be clearly struck off.

Tl b ITRI P AT HHTER DI oMed | iR 30 9 feu 70 uef & IR &1 ot araan &

STE A S/ Brel 8! T gl | Wiell BIS T Dis H ¥ 314dT Y & U &1 guid: BIc SIfor |
8.  Re-evaluation/ re-checking of answer book of the candidate is not allowed.

SHIGAR & ITRYRADT &1 T H / T Sid DI AR © |
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1. (o What are the tools and objectives of ‘Corporate Financial Reporting?” Who 10

are the users of ‘Financial Statements’?

Hiae faxia Raifén & Iue o iR I 1 § 2 foxiig faavui &

S c_Aa .
SUONThdl B &7

(b) What is ‘Accounting Cycle’? “Two pervasive constraints that limit the 10
information provided by financial reporting are materiality and cost"

Explain.

G Ih' T |7 “faxiig RaiféT grR1 ue ot 718 SR} & Hfed o areft
<1 IS FYTE Hifdpar IR ANTd 81" IH=sy |

2. What do you mean by Overriding Commission? How is it different from 20
Del Credere? Punjab Cycle Co. of Ludhiana consigned 100 tricycles to
Kanpur Cycle Co. of Kanpur costing 1,500 each, invoiced at ¥2,000 each.
The consignor paid freight 10,000 and insurance in transit ¥1,500. During
transit, 10 tricycles were totally damaged. Kanpur Cycle Co. took delivery of
remaining tricycles and paid 1,530 for octroi duty. Kanpur Cycle Co. sent a
Bank draft to Punjab Cycle Co. for 350,000 as advance and later sent an
account sale showing that 80 tricycles had been sold @2,200 each.
Expenses incurred by Kanpur Cycle Co. on warehouse rent were 32,000.
Kanpur Cycle Co. is entitled to a commission of 5% on invoice price and
25% on any surplus of sale price over invoice price. Insurance claim was

settled at ¥14,000.

Prepare consignment account, consignee’s account, and accidental loss

account in the book of consignor.

SNERRTSET HHIRM T HTTHT T AT 8| T8 S shoxX U hl 3T 872
AT D1 U Arsfobdd HUHT A YR Dl BFYR HISfbd DU HI 21,500
&1 ANTd arelt 100 faufsan argfae Well, Ude &1 22,000 &1 T fabdm |
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¥ 3 210,000 HTST TUT ANRY §HT 31,500 T YA fbar | I H 10
ferafean Arsfhaydl ave ¥ &fauwd 81 73 | HHYR Wisfdrdd HU- 4 Ay
faufear Trsfeal & fecitast o 3R I Yo & T 1,530 H1 Y fBa
| HHYR ARfhd HU-l 7 250,000 & T USTE ASfrd HU I Th §F
SIUe SHIH & U H Woll 3R 91a H I8 fawrd gu ue @i fospt el fs 80
forafga Arsfard 22,200 TS & X U ol 1% & | SHEYR Aigfovd Hu]
SRITGM & R R IGA TI@E 22,000 AT | HHYR AMSfbd HU]
A H W 5% 3R AT Jod F 31 et e & farddt +ft SRy W™
25% HHIYM B! §HeR & | ST a1 214,000 TR I fooam am o |

YYD P G&ib! H Y07 WIdT, TRV DT /AT qUT ST RAd g1+ Jal 915 |

3. (8 From the balance sheets and information given below, prepare a 20

consolidated Balance Sheet:

Particulars H Ltd. S Ltd. Particulars H Ltd. S Ltd.
X X X X

Share Capital: 1,00,000 20,000 Sundry Assets 80,000 12,000
%10 fully paid
Profit & Loss 40,000 12,000 Stock 61,000 24,000
A/C
Reserve 10,000 6,000 Debtors 13,000 17,000
Bill Payable 3,000 Bills 1,000

Receivable
Creditors 20,000 12,000 Shares in S 15,000

Ltd. at cost
Total 1,70,000 53,000 | Total 1,70,000 53,000

(a) All the profits of S Ltd. have been earned since the shares were acquired by H 10
Ltd. but there was already the Reserve of ¥6,00,000 on that date.

(b) The bills accepted by S Ltd. are all in favour of H Ltd. which has discounted
32,000 of them.
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(c) Sundry assets of S Ltd. are undervalued by%2,000.
(d) The stock H Ltd. includes %5,000 bought from S Ltd. at a profit to the latter

of 25% on cost.

I & 118 9 2fie 3R SR ¥ Te AT 9oy 2fic TR &

Particulars H Ltd. S Ltd. Particulars H Ltd. S Ltd.
X X X X
AT T 1,00,000 | 20,000 | Sundry Assets 80,000 12,000
o
10 (T $[31ATT=T)
CIE gﬂ%r gardr 40,000 12,000 | Stock 61,000 24,000
Tl 10,000 6,000 Debtors 13,000 17,000
T faer 3,000 | Bills Receivable 1,000
RUTGTAT 20,000 12,000 | Sharesin S Ltd. 15,000
at cost
Total 1,70,000 | 53,000 | Total 1,70,000 53,000

(a) H e gRIRI & sitpgui s ag 9 S faftes & wuft ey oifSid frg e 6
Tfch 3T ARG B 6,00,000 ST o1 RoTd Ugal I & T |

(b) TH fafies gr1 WieR fHu M faa g+t = forfies & uer o § oM 2,000 00
EAIGCCI

(c) wyfafies o1 fafgy duftr 2,000 § HH Geaifed 7 |

(d) T= fafes & wie § vy fifiies I anTd W 25% & Ay R W@Rie] -7 5,000 S0
&1 I AR |

4. (a) AC 10
MC = —
AQ
Explain the above equation. Examine critically implications of ‘Marginal

Costing’ for managerial decision making.

AC

MC=—
AQ

IR GHIHRUT Pl RS B | Yserp1a fAofa o= & forg At anma &
fafgardf &1 sreTds uster &3 |
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(b) The Profit-Volume-Ratio (PVR) of a trading concern is 50%. How much sales 10
volume must be increased to offset. (i) 10% reduction in selling price, and (ii)

20% reduction in selling price.

TS AR fidT T arH-HE1-3urd (@t 31R) 50% 7 | ( i) fost gea & 10%
& HHY, 3R (1i) BT T T 20% BT HH BT T HA & (o7 faeht Bt AT HH:
fd-t SgM 91T |

5. (@ What do you mean by ‘True and Fair View' in context of independent 10
financial audit? Explain the concept of ‘adequacy, reliability and competency’

of a voucher.

WA oty sidvernn & ey # 2 08 R o ¥ 3MUsT 1 died § ? aSR
I UG, fOaT 3R GradT Bt SaURUT H1 RS B |

(b) “Vouching is backbone of auditing.” Elaborate. How vouching is different 10

from routine checking?

"GN 3iheful B S 7 1" fodR T saren &3 | aras et fafia o @ fea
UHR g ?

6. () Explain how NPV approach to capital budgeting analysis has an edge over 10
other techniques or approaches based on ‘time-value-of-money’ (TVM),

especially internal rate of return approach.

SRS BT o ol Sote fawawur & fag T Ut ot efPaivn ergd-aeg- 3iith-
Ty (& It TH) W nutlRd 8 d-ite! Tt @i, fovly 3u & ufawd @
3fidfep X =PI R FY Fgd I@d1 2 |

(b) What are the basic assumptions of CAPM? Examine the factors determining 10

working capital requirement.

I ¢ Ut TH @t e YRS 1 § 2 STl Uoht @ sfaRgedr &l Fuifd
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B AT PRBI D S DY |

7. (3) Compare and contrast tax planning, tax avoidance, tax evasion. 5
FR STISH], TR URER 3R HR T Bt g1 HITorg 3R S8 SfaR DI |
(b) X (45 years) transfer the following assets during the previous year 2021-22: 15
Particulars Gold Equity  oriented | House
mutual funds property

Full value of consideration | 7,00,000 | 15,00,000 80,00,000
Stamp duty value 88,00,000
Cost of acquisition (all | 2,00,000 | 3,00,000 20,00,000
assets were acquired during
2001-02)
Market  quotation on | --- Not available ---
January 31, 2018 in stock
exchange
NAV on January 31, 2019 == 5,00,000 aala

Securities transaction tax is paid at the time of transfer of mutual fund units.
X purchases a residential house property for 230, 00,000 on April10, 2022 (he
does not own any house property). Income of X from other sources is 327,
00,000. Calculate net income and tax liability of X for the Assessment Year

2022-23. Ignore Section 115 BAC pertaining to alternative tax regime.

X (45 a¥) fosd a¥ 2021-22 & SR FufalRad dufaat o wiHaRa sars

(SRT ) R | gfed-S TR U @)
TIIHA B3 )

quf fasrg e 7,00,000 15,00,000 80,00,000

T St deg. 88,00,000

3{TRIEUr Bt arTd (G4 ufaai | 2,00,000 3,00,000 20,00,000

2001-02 % ERM Hfofd B 718

)

Wich TagaSl | 31 AR 2019 | --- 30 Tl ©

CAKISIREA RN

31 ORI 2019 B AT AT | --- 5,00,000 | ----

T3 e AT o gl &b T Ufayfd d-e B BT YA fobdr SiTd
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8 | X10 310, 2022 BT 30,00,000 ¥UY & U Teh SMARIT &R P Ffd TR
B (IS T DIS TE WUT 61 §) | ST 4 X B 3T 27,00,000 IUY § |
fAuRRor ayf 2022-23 F T X &1 Y 31 SR HR ST DT AT Y | Jb T
B TR TSI URT 115 BAC P UL B |

8 (8) Describe customs clearance procedure for (i) home consumption (i) 12
warehousing (iii) re-export, and (iv) import by post prohibited exports.

() TR WU ( i) HSRUT (i) G Fafa $iR ( iv) ufasfia Frafa grr smara &
fore i e HeRi ufdhar &1 9ufF #X |

(b) What do you mean by customs duty as defined under the Customs Act, 8
19627 Describe the types of customs duties allowable under CBEC.

I Yo 31T, 1962 & dgd TR THT Yoob F SMTUHT FT dd § ?
Fr et g @Fig e FR SR W1 Yoo dI8) & ded WiHhH AT Yeb &
USRI BT quH B |

% ¥ % % ¥
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5. (@) ‘A negotiable instrument is one, the property in which is acquired by anyone who
takes it bona fide and for value, notwithstanding any defect of title in the person
from whom he took it.” Elaborate. Summarize ‘special rules of evidence’

governing negotiable instruments.

T TSP TG AT SUSRYI 98 &, Fored "uf freht & gRT Sifoid B el
§ Sl 38 Rl 3R el & T gl 3, S8 81 39 safdd # e &1 qy
g1, o 39 3 fora Ut et Y | TR IUHRUN Bl (AT B
qrel 18 o A=y o &1 IRk &1 |

(b) Briefly discuss the rules if international Law related to negotiable instruments.

RIS BT Wb IuHRUN J ey el R gy & =r=f o |

6. Describe the procedure of voluntary winding up of a company under the 1BBI

(Voluntary Liquidation Process) Regulations, 2017.

IBBI (Wfwse uRmwma= ufshan) faffam, 2017 & dgd [t o & Wfeses aRaHT=
P Ufehar &7 quiE &Y |

7. (a) Address briefly elements of Legal Environment of Business.
IR & B! ATATERYl & dedl ! WY B G B |

(b) “Founded at the Bretton Woods Conference in 1944, the tow institutions have

complementary missions.” Elaborate.
"1944 T e 339 T § R 31 TH Reb A 1 fowar I Taf & |

8. (a) “When the number of subordinates increases arithmetically, the number of group,
cross, and total number of relationships increase geometrically.” Elaborate and

illustrate with the help of practical example.

"G SHRTRIST BT TAT BT FU I TGt 5, a1 TG, P, iR ot Yaell Bt we
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ST &0 q Fgdl § 1 RS Y 3R HGGING IS8R0 &I Heg I WP B |
(b) Discuss the techniques of managerial control.
YepIT fT=01 Bt o] ! =l Bifv |
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